Vi

“\\\N§\ :degou reHUdU 19iAT'od|]

: yumsaoewy veriqas 19uiATod||

KHHBLUI SOINATOdI HHUHROUIID WOHSOHIOXS HdI KOLOKHIOLIRE

£SS8 Woxoed
ot ¢10T | 9ST | €1 e 9SvS €LE v¢| STT | 801 ov| 99| Ssve| @91 | L9 1C Awwhd ey
ov ovvy 08 vS €9 (43 0S9 oe| vl | S€T 114 8¢ 0€ [43 T€ LE eHaf]
0€20 €C| 96T | 99T 9'v G‘'sT| <S/s0| 80| 80| 80 T|9€C|STT| 90°S ¥'s | SLS0 aneras ¥ 01309
[EEITETS
[4 114 LT €¢ ov SET S L L L| S'LT | s‘0z | 00T 144 14 S OJ-T BH OJOLHU
seasoemAd] | ¢/
017 yoHewd garx | 9
0¢ (474 uiedAx en 1ouwoy | g
[4 ss Fd L v| STT aHUTBg0I EM MEBVA] | ¢
seLehuiqooed
S T 8t BeS3HhE BMEY | €
youAdy yosordau
2 yuoidAgdatau
LT 08 4 9|62T | 00T G WOJBW 2 ¥UHAurodded | 7
1910AueN
€ T € 8 4’4 WOHHBhRYOLDQ €M lewe) | T
o) o) = Q - = o = z = =
$13) 8| 9| SE|E| E| Elée|g|E| |5 8|l & &
& E g = & B o)} = = 2 8 o = P = =,
s o E ° B o = 5 2 o 3 = g = e
= 2 ¥ z e g = @ 4 ® 2 =
8 Q 2 = = = S
g S = 5 = 5 v a =
g| = % g 8| & 2 e
Z m ® m 8 OIHIN N
o+
8
WedJ g BYgOIroh OJOHIO BH ONIRINEE XUIMEXALTOL KMHRLUL S0IMATOdI 09100hUIr0N ‘OHHREOHOWHREH]
2170760 0 BH MAEOIdh G| BIXHIIOIA91)9Ir090Y 09.LBHL0)
«egaevvAToy 'y )
:0IVIKd3gLA BUHBLHI g90LIATY0dl AhBYI9E Bl "WHM 110D BeNILHANEGAWAD» AO9N

9 -1 HTHVHO94dd.L — OIHAN




